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« Please check that this question paper contains 11 printed pages. '

» Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

« Please check that this question paper contains 30 questions.

« Please write down the Serial Number of the question before attempting it.

« 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this
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General Instructions :

(i)  All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, four questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

(v)  Use of calculator is not permitted.

@|uE - A
SECTION - A
YT 1 A 6 TF TARTH | AFH 2 |

Question numbers 1 to 6 carry 1 mark each.

1. U% o o %% (-2, 2) ®, F1 U =@ AB R | Afe fog B & s (3,4) &, @
forg A o FrawTres Jra shifeie |
Find the coordinates of a point A, where AB is a diameter of the circle with
centre (—2, 2) and B is the point with coordinates (3, 4).

2. 2 aur 3 % e i R ue ufty g i i |
Find a rational number between \/5. and \/5

3. a*ﬁﬁﬁmé@T@ﬁm@%?

How many two digits numbers are divisible by 3 ?

4. T2 tan 2A = cot (A —24°) B, AT A T A FTd hITeC |
HUAT

[=]'%[=]
e
[=]
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(sin? 33°+sin? 57°) T W F1d HIIC |
Find A if tan 2A = cot (A —24°)
Or

Find the value of (sin”33°+ sin® 57°)

5. k% P w3 fore weET X2 + 4x 4k = 0 o TR ATEiereh B 7

e
k 1 =% T 3T s fores R e 3x2 —10x+k =0 % 6 Gh-g@ &
fere & |
For what values of &, the roots of the equation x2 +4x+k=0 are real?
Or

Find the value of & for which the roots of the equation 3x2—10x+k =0 are
reciprocal of each other.

6. i 1 °, DE||BC, AD = 1 Tt @1 BD = 2 @i 8 | (A ABC) @1 (A ADE)
% Swel § o T © 7

3Tfd 1
In Fig. 1, DE||BC, AD = 1 cm and BD = 2 cm. What is the ratio of the
ar (A ABC) to the ar (A ADE) ?

A
| D E
B c
Fig. 1
-E.E'E
e
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Qs -
SECTION - B

¥ WA 7§ 12 T T Y9 2 3 D |

Question numbers 7 to 12 carry 2 marks each.

7.

10.

11.

k =1 919 1 shifsre a2 arfier frem 2x+3y=7, (k+)x+Qk-1)y = 4k +1
& IR w7 & 3 g ¥ |

Find the value of & for which the following pair of linear equations have
infinitely many solutions. 2x+3y=T7, (k+D)x+ 2k~ Dy=4k+1

@m@aﬁqmm@wnm(i)@mmﬁ@r%amﬁ(ﬁ)z?raméseﬂa
aﬁm%aﬁaﬁ,mﬁrﬁnm?ﬁﬁm

A die is thrown once. Find the probability of getting a number which (i) is a
prime number (ii) lies between 2 and 6.

fegatt (1, - 3) @ (4, 5) %I e amen tEmEve, x-318 g1 Fore arqure &
%mﬁﬁaﬁm%,agmﬁ%mx-am%wﬁg%ﬁ%mﬁvﬂwﬁﬁm

Find the ratio in which the segment joining the points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.
@@aﬁ@m%ﬁﬁqﬁﬁ?ﬁqmwm%aﬁwﬁaamwﬁm%@
%mm%:wfé?ﬂﬁqﬁmnwﬁﬁﬁsﬁammaﬁ@amaﬁmﬁm
1 =hIfTT |

A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

IR A 3, 15,27, 39, ... FAA AR TH 213 72 Y 120 e 2 7

' areraT

At T WHIR At W v w5 A Sps Sy =3n? —4n T e R, A sEE
nﬂ?"ﬁ.‘i’l’lﬁﬁﬁ?ﬂ{l

Which term of the AP 3,15, 27, 39, ... will be 120 more than its 21st term ?
Or
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If S,,, the sum of first » terms of an AP is given by S, = 3n* —4n, find the nth

term.

12. IfFre weiiften % AR @ 1260 AT 7344 H WewH FEGEds (HCF) I
I |

A
Turien fiF s faww eAquilse (4g+1) 3AUET (49 +3) F &9 F &1 2, & ¢
hIE qUTleh B |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g +1) or (4¢ +3), where
g is some integer.
@ us - |
SECTION-C

W HEAT 13 § 22 T TS YU 3 3| I ¢ |
Question numbers 13 to 22 carry 3 marks each.

13. o= ST &9 1 918 53 B, k %1 HH 3T i |

el 0-20 20-40 40-60 60-80 80-100
TSR 12 15 32 k 13
The arithmetic mean of the following frequency distribution is 53. Find the
value of £.

Class 0-20 20-40 40-60 60-80 80-100
Frequency 12 15 32 k 13

14. i 2 #, g9ie 10 o6 G F1 A% J1q HIC, At g9 hi Brean 21 T R e
Z AOB=120°% | (n:%?ﬁﬁq)
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Find the area of the segment shown in Fig. 2, if radius of the circle is 21 cm

and Z AOB = 120° [Use m= 2_},—2*)

Py AT
W

Fig. 2

15. Tl 34, £ ACB=90° @91 CD L AB2, firg iR f% CD? = BDXAD .

C

D

3T 3

YT
afe P aom Q %H1: A ABC # yweil CA @en CB W fog fig & e £ C
woehio 8, it g IRTC 6 (AQ2 + BP?) = (AB? + PQ?)

In Fig. 3, Z ACB = 90° and CD L AB, prove that CD? = BDx AD.

&

D
Fig. 3
f Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C, prove that (AQ? + BP?) = (AB2 + PQ?)

Ehl@
=
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16. 3Tk 4 ¥, wH A ABC, el ymd BC = 8 @i, A
AB = 10 & a1 AC = 12 &t €, & ofavia T I
@i=n T 2 | BL, CM @91 AN <l Samgai 9rd shifsig | | 123
N M
B
L
8 Tl
TR 4
In Fig. 4, a circle is inscribed in a A ABC having sides A
BC = 8 cm, AB = 10 cm and AC = 12 cm. Find the
lengths BL, CM and AN.
10 cm 12 cm
N M
B T C
8 cm
Fig. 4
17. 6 ot S 3 1.5 #f 7ed vk T F gt 10 FRft /e fi a1 W WE @R
30 fire #, 78 T e gm0 oo, sefs e & forg 8 &
et T Sl STEvEeRdT Bl € |
Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water
is needed ?
18. fog v & 2 us sfer der & |
Prove that +/2 is an irrational number.
19. afe agae x% - (k+6)x+2(2k-1) F ST 1 AN 3% USRS 1 AT R, dl
k =T W T ST |
Find the value of k such that the polynomial x* —(k +6)x+2(2k —1) has sum
of its'zeros equal to half of their product.
20, y-31% %1 a8 faig Fra e it fogadt (5, -2) @ (-3, 2) F AHGEA R |
AT
30/1/2 7
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fagati A(2, 1) a1 B(5, -8) #ht firem aren tarave fagati P aen Q w i
arar 8 Safeh P fog A & fsre B 1 3R P, 2x— p+k =0 501 wew Y@ W ot fedra
2, @l k %1 0T 14 FHIIT |

Find the point on y-axis which is equidistant from the points (5, —2) and
(=3, 2).
Or

The line segment joining the points A(2, 1) and B(S, -8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k =0, find the value of k.

21, U fiar Y 11 79 &1 =1 Y Y F AN A T F FHE B | S a9 b gveEnd
gl g = A A F A F G F GHH enft | far A adam g I
FHifery |

AYAT
e i 5 21 o &, o 3w of @ 2 e e 8, oA £ AT Y, T
7Y 1w S | g8 i g i

A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of

the father.
Or
¥ 1 . .
A fraction becomes 3 when 2 is subtracted from the numerator and it
] ; ; : ;
becomes Ewhen 1 is subtracted from the denominator. Find the fraction.

22. Tag #fRT F (sin 0+ cosec 0)2 + (cosO+sec0) = 7+ tan> 0 +cot> 0.
HUdt

ﬁ'-@?ﬁﬁt{ﬁ)" (I+cotA—cosecA)(l+tan A+secA)=2

Prove that (sin© + cosec 0)% + (cos 0 +secB)? =7+ tan® 0+ cot? 0.

Or
Prove that (1+cotA —cosecA)(l1+tanA +secA)=2

E2E
[=
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s - §
SECTION -D

WY GEAT 23 ¥ 30 T Tedh YT 4 B AT |
Question numbers 23 to 30 carry 4 marks each.

23.

24,

25.

26.

%@ﬁﬁm tanZ A 0 cosecZA 1

tan? A—1 sec’ A —cosec’A % 1-2cos? A
tan’ A cosec’A r 1
tan? A—1 sec’ A—cosec’A 1-2cosZA

Prove that

U HTAT AT 1 YW 92 3, 3T g 83 qUT 39 Al 9gT 1 ITHS 903 B 1 39
YT A1 % UEi 3hl T aUT GTaIR J1d I |

The first term of an AP is 3, the last term is 83 and the sum of all its terms is
903. Find the number of terms and the common difference of the AP.

w Bigs ABC € wn fifse Rt ystt BC = 6 &, £ B = 45° a
Z A =105 8, 7 T 3 By it = A et yod A ABC i @

sTTadt i % T & |
Construct a triangle ABC with side BC =6 cm, Z B =45°, £ A= 105° Then

construct another triangle whose sides are % times the corresponding sides of
the A ABC.

I fr STRERET S 1 A1ea 32.5 Al £, 91 £, % W F7a FIforg |

1 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | =

TSR : fi 5 9 12 7 3 2 40

IreraT
uss gl o 100 faenfeiat gro g f= e

gitdres | faenferan < g

0-5 2

5-10 5

10-15 6

15-20 8

20-25 10

25-30 25

30-35 20

35-40 18

40-45 4

45-50 2

U U FHH YRR I Gl SR a5 Wi | 37d: Hieaeh Jd it |
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27.

28.

of /i and f,.

median,

%aﬁ%q%@mmﬁgaﬁaﬁmaﬁ,mawaﬁ%aﬁ%w%
A ST & |

Prove that in a right angle triangle, the Square of the hypotenuse 1s equal the
sum of squares of the other two sides.

A bucket open at the top is in the form of a frustum of 3 cone with a Capacity
of 12308.8 cm3. The radii of the top and bottom of circular ends of the bucket

30/12 10
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29, & gt % et U WY T 3 Hl 1—%— 531 3 W G § | 92 AT aTe T o

uﬁﬁ,mwaﬁwﬁzﬁ%mm?‘m%lmwmwﬁﬁﬁ
W o1 GH J1d i |

arera
T T 10 e W URT % Tidget 30 freht o e % TgES 44 TRt ST R 113
53 # 52 40 Tt am 3 wiger wd 55 fFf g % ST ST 8 | SR =
o1 19 i fRR Set # =t 91d it |

Two water taps together can fill a tank in l% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

30, 100t 3 U TSe TS & T UH A H) & W1 g feh 2 e # e T
3 Rt I FT A 60° F 300 AT g wwer & | Hex wfo e 7 A A

= 3 AR | [3 =1.732 wfife

rerar
e 80 T HYE) T AN ST A - GHH = AT A T T LR |
25 il % ot TeE e g & @it % Rt % I 0 EH: 60° 3 30°
$ | @i =t g ofv @t @ foig At gl I <Rt |

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use =1 .732]

| Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

Elh Iq
=
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